Math 1116, Apportionment Activity, Fall 2014 Name
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Instructions: Use Jefferson Method to apportion the seats in #1, Webster’s in #2, and Adam’s Method in
#3. Note if there are any quota.rule violations.

1. Total Seats Avajlable: 210 ;
State Population  Standard Modified Modified Modified Final
Quota : Quota Quota \ Quota Apportionment
Kanteri 88,129 ; i :
oy Hbe 558 STAU 5444 Y
Hume 79,340 1 ‘

e 49.0% H44.5% 4143 49.40 49
Cartesia 89,920 55\5_% 561 6‘6-0"2 | %.Ob 5b
Socration 54,543 83:”‘ ; BLIL 0% 53 q% %({»OO | 34_‘_
Plateau 27,8%1 ,ng 12'43 ,]_}%7 [:l”%g \tt

/ gonz 339,81 JcR , A1 LZOI 210 210
SD= [6/8.) MD= b < 05 | D=
v 2. Tota‘nSeats Available: 39 j = Mo | Mo=les WDOO’V‘@/‘?L VUfQL
State  Population Standard Modified Modified Final 2 @va}
Quota Quota ' Quota Apportionment
Chi 965
lo.95 /(09 .o [l
Nix 219 2,4"? 25, 25_0 3
Hydra 519
<5 111|598 G
rb
Kerberos 828 ‘? 40 ? g( q ‘}'6 ﬁ
Styx 906
0,28 [0.41{ [0.25 /O
Total 34 23 ‘ 37
<D = 83%. 128 D= |9 - ’ " lﬁ:i}!?
3. Total Seats Available:h;\S ? MD = WEEF L W Méa
State Population  Standard Modified Modifi(‘ed Modified Final
Quota Quota Quota Quota Apportionment
Vesta 3457 , _ )
Tl 354 Q43 33 q
Pall 9740 o B
e 2478 405 237 2347 oy
Persephone 8248 ZO% 76.37 201 2 l‘i% z 90
e 123 1F0g kSl bbb s
Eri 1734 ‘
) 4.5 42% 427 H41% 5
Total 30, 0q> 13 1% ?,L(Oi a5
T‘D: ) P |
S Lo, 2% MOsto MO 4S

MO = 4"0'5 |
! Lo Ci‘jf,{_.(_'-itd\..\r;uﬂ(’_ T
UL datron



